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QUESTION 1

A multi-tenant container database (CDB) contains three PDBs. 

Which three are prerequisites for performing a cross-platform transport of any of the PDBs? (Choose three.) 

A. The CDB should be in MOUNT state. 

B. The source and target platforms must have the same endianness. 

C. The COMPATIBLE parameter must be set to 12.2 or greater in the CDB. 

D. The source PDBs must be closed for a cross-platform PDB backup. 

E. Flashback database must be enabled for the CDB. 

F. The CDB must use Automatic Memory Management. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/bradv/rman-transportingdata-across-
platforms.html#GUID-B0178538-6E41-455D- 8166-FBB1EDC5D198 

 

QUESTION 2

Examine this parameter: 

Examine these commands: 

Which three are true after executing these commands? (Choose three.) 

A. All statements executed by SH are captured and included in a baseline. 

B. Statements executed by both SH and SYS may be captured and included in a baseline. 
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C. Only statements executed by SYS are captured and included in a baseline. 

D. Only statements executed by SH containing the "TEST_ONLY" string are excluded from capture. 

E. Statements executed by any user containing the "TEST_ONLY" string are excluded from capture. 

F. Only repeatable statements executed by SYS and SH are considered for baselines. 

Correct Answer: AEF 

 

QUESTION 3

Examine these statements executed in the PROD1 database: Which statements are audited? 

A. only the CREATE USER statement 

B. only the ALTER SYSTEM statements 

C. only the CREATE USER statement and the first change to JOB_QUEUE_PROCESSES 
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D. only the changes to JOB_QUEUE_PROCESSES and the CREATE USER statement 

E. all the statements 

Correct Answer: D 

 

QUESTION 4

The EMP_CDB1 and EMP_CDB2 CDBs are in ARCHIVELOG mode. 

Oracle Managed Files is enabled in both CDBs. 

EMP_CDB1 has a PDB, EMP_PDB1. 

In EMP_CDB2, you log in as the SYS user. 

You plan to execute this statement: 

CREATE PLUGGABLE DATABASE emp_pdb2 FROM emp_pdb1@emp_link RELOCATE; 

Which two statements are true? (Choose two.) 

A. The AVAILABILITY MAX clause should be added to the command to ensure transaction consistency during the
relocation process. 

B. SYSOPER privilege should be granted to the user defined in EMP_LINK and used to connect to the remote
database. 

C. EMP_PDB2 should be opened in read-write mode to complete the relocation process. 

D. EMP_PDB1 should be dropped manually from EMP_CDB1 after executing the relocating command. 

E. EMP_LINK should exist as a public link in EMP_CDB1 and EMP_CDB2. 

F. Only EMP_PDB1 should be in local undo mode. 

Correct Answer: CE 

 

QUESTION 5

APP1 is an application container that has an application seed and two application PDBs, APP_PDB1 and APP_PDB2. 

1.0 is the current version of the application. You execute this block in the application root: 
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What is the outcome? 

A. An error is thrown because the version number should be sequential, either 1.1 or 2.0. 

B. An error is thrown because the CONTAINER=ALL clause is missing. 

C. An error is thrown because the c## prefix is missing in the role name. 

D. A common role is created only in the application root. 

E. A common role is created only in the application root and application seed. 

F. A common role is created in the application root, application seed, APP_PDB1, and APP_PDB2. 

Correct Answer: D 
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